Duration :- 3.00 Hrs S422NEO019 Maximum Marks : 100
Note : 1} All Questions are compulsory.
2) Each questions carries equal marks.
Q.1. Attempt any two of the following. 20M
A) Define Microeconomics & examine its scope.
B) Explain the difference between positive economics & Normative economics.
C) Define following concept for Economic Analysis.
i) Equations & Identifies ii) Functions, Graphs
Q.2. Attempt any two of the following. 20 M
A) Define Market Mechanism? Explain the advantages & drawbacks of Market
Mechanism.
B) Describe the role of Government in Market failure.
C) Explain relation between Money Supply & Inflation.
Q.3. Attempt any two of the following. 20 M
A) Explain market equilibrium with the help of a diagram.
B) Explain the methods of measuring price elasticity.
C) Elucidate on different types of Income elasticity.
Q.4. Attempt any two of the following. 20 M
A) Define indifference curve? Explain the properties of indifference curve.
B) Explain concepts for substitution effect with the help of a diagram.
C) Explain the substitution effect with the help of a diagram.
Q.5. Short Notes. (Any Two) 20 M
A) Diagrams
B) Rationality & Marginality
C) Changes in Supply
D) Income Effect
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